

## County Distribution Detail Report through 12/03/2024

## **Aurora**

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,212	2,209	25	3,446	\$6,892.00	\$144.32	\$6,747.68	0.70	\$4,723.38
							Entity <sup>-</sup>	Total:	\$4,723.38
							Adjust	ment:	\$0.00
							Total A	mount:	\$4,723.38
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,341	11,840	1,862	15,043	\$30,086.00	\$617.31	\$29,468.69	0.70	\$20,628.08
							Entity <sup>-</sup>	Total:	\$20,628.08
							Adjust	ment:	\$0.00
							Total A	mount:	\$20,628.08
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	800	1,318	3	2,121	\$4,242.00	\$93.60	\$4,148.40	0.70	\$2,903.88
							Entity <sup>-</sup>	Total:	\$2,903.88
							Adjust	ment:	\$0.00
							Total A	amount:	\$2,903.88
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,356	4,506	178	6,040	\$12,080.00	\$242.35	\$11,837.65	0.70	\$8,286.36
							Entity <sup>-</sup>	Total:	\$8,286.36
							Adjust	ment:	\$0.00
							Total A	mount:	\$8,286.36

## **Brookings**

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	8,359	24,712	1,029	34,100	\$68,200.00	\$1,426.60	\$66,773.40	0.70	\$46,741.38
							Entity <sup>-</sup>	Total:	\$46,741.38
							Adjust	ment:	\$0.00
							Total A	mount:	\$46,741.38
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	4,597	30,003	2,962	37,562	\$75,124.00	\$1,573.07	\$73,550.93	0.70	\$51,485.65
							Entity <sup>-</sup>	Total:	\$51,485.65
							Adjust	ment:	\$0.00
							Total A	mount:	\$51,485.65
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	2,046	4,101	81	6,228	\$12,456.00	\$250.93	\$12,205.07	0.70	\$8,543.55
							Entity <sup>-</sup>	Total:	\$8,543.55
							Adjust	ment:	\$0.00
							Total A	mount:	\$8,543.55
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	522	504	1	1,027	\$2,054.00	\$41.08	\$2,012.92	0.70	\$1,409.04
							Entity <sup>-</sup>	Total:	\$1,409.04
							Adjust	ment:	\$0.00
							Total A	mount:	\$1,409.04
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,449	7,484	306	9,239	\$18,478.00	\$386.68	\$18,091.32	0.70	\$12,663.92
							Entity <sup>-</sup>	Total:	\$12,663.92
							Adjust	ment:	\$0.00
							Total A	mount:	\$12,663.92
Campbell									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	520	1,418	15	1,953	\$3,906.00	\$80.61	\$3,825.39	0.70	\$2,677.77
							Entity <sup>-</sup>	Total:	\$2,677.77
							Adjust	ment:	\$0.00
							Total A	mount:	\$2,677.77
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	2,030	6,004	17	8,051	\$16,102.00	\$324.84	\$15,777.16	0.70	\$11,044.01
							Entity <sup>-</sup>	Total:	\$11,044.01
							Adjust	ment:	\$0.00
							Total A	mount:	\$11,044.01
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	2	3,037	76	3,115	\$6,230.00	\$124.57	\$6,105.43	0.70	\$4,273.80
							Entity <sup>-</sup>	Total:	\$4,273.80
							Adjust	ment:	\$0.00
							Total A	mount:	\$4,273.80
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	434	3,509	107	4,050	\$8,100.00	\$179.35	\$7,920.65	0.70	\$5,544.46
							Entity <sup>-</sup>	Total:	\$5,544.46
							Adjust	ment:	\$0.00
							Total A	mount:	\$5,544.46
City of Pierre, Hugh	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,478	12,144	1,902	15,524	\$31,048.00	\$627.22	\$30,420.78	0.70	\$21,294.55
							Entity <sup>-</sup>	Total:	\$21,294.55
							Adjust	ment:	\$0.00
							Total A	mount:	\$21,294.55

City of	Sioux	Falls,	Lincoln (
---------	-------	--------	-----------

,, <u>.</u>									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,177	35,293	5,493	41,963	\$83,926.00	\$1,681.76	\$82,244.24	0.70	\$57,570.97
							Entity '	Total:	\$57,570.97
							Adjust	ment:	\$0.00
							Total A	Amount:	\$57,570.97
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	926	2,623	82	3,631	\$7,262.00	\$154.31	\$7,107.69	0.70	\$4,975.38
							Entity <sup>.</sup>	Total:	\$4,975.38
							Adjust	ment:	\$0.00
							Total A	Amount:	\$4,975.38
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	850	8,374	701	9,925	\$19,850.00	\$417.15	\$19,432.85	0.70	\$13,603.00
							Entity '	Total:	\$13,603.00
							Adjust	ment:	\$0.00
							Total A	Amount:	\$13,603.00
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	6	0	0	6	\$12.00	\$12.00	\$0.00	0.70	\$0.00
10/2024	2,647	21,584	3,062	27,293	\$54,586.00	\$1,161.81	\$53,424.19	0.70	\$37,396.93
							Entity <sup>·</sup>	Total:	\$37,396.93
							Adjust	ment:	\$0.00
							Total A	Amount:	\$37,396.93
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	570	1,130	557	2,257	\$4,514.00	\$91.67	\$4,422.33	0.70	\$3,095.63
							Entity '	Total:	\$3,095.63

							Adjust	ment:	\$0.00
							Total A	mount:	\$3,095.63
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
10/2024	2,673	7,101	41	9,815	\$19,630.00	\$427.59	\$19,202.41	0.70	\$13,441.69
							Entity <sup>-</sup>	Total:	\$13,443.09
							Adjust	ment:	\$0.00
							Total A	mount:	\$13,443.09
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	<b>Entity Percent</b>	Entity Amount
10/2024	2,631	16,078	1,733	20,442	\$40,884.00	\$847.35	\$40,036.65	0.70	\$28,025.66
							Entity <sup>-</sup>	Total:	\$28,025.66
							Adjust	ment:	\$0.00
Davis							Total A	mount:	\$28,025.66
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,339	3,954	225	5,518	\$11,036.00	\$222.80	\$10,813.20	0.70	\$7,569.24
							Entity <sup>-</sup>	Total:	\$7,569.24
							Adjust	ment:	\$0.00
							Total A	mount:	\$7,569.24
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,252	3,323	139	4,714	\$9,428.00	\$194.02	\$9,233.98	0.70	\$6,463.79
							Entity <sup>-</sup>	Total:	\$6,463.79
							Adjust		\$0.00
Daniela							Total A	mount:	\$6,463.79
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	927	2,339	21	3,287	\$6,574.00	\$135.51	\$6,438.49	0.70	\$4,506.94

							Adjust	ment:	\$0.00
							Total A	mount:	\$4,506.94
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	833	3,242	137	4,212	\$8,424.00	\$170.12	\$8,253.88	0.70	\$5,777.72
							Entity <sup>-</sup>	Γotal:	\$5,777.72
							Adjust	ment:	\$0.00
							Total A	mount:	\$5,777.72
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
10/2024	2,375	5,418	34	7,827	\$15,654.00	\$321.89	\$15,332.11	0.70	\$10,732.48
							Entity <sup>-</sup>	Γotal:	\$10,733.88
							Adjust	ment:	\$0.00
							Total A	mount:	\$10,733.88
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	572	1,698	44	2,314	\$4,628.00	\$93.13	\$4,534.87	0.70	\$3,174.41
							Entity <sup>-</sup>	Γotal:	\$3,174.41
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,174.41
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	999	5,874	524	7,397	\$14,794.00	\$330.01	\$14,463.99	0.70	\$10,124.79
							Entity <sup>-</sup>	Total:	\$10,124.79
							Adjust	ment:	\$0.00
							Total A	mount:	\$10,124.79
Gregory									

**Entity Total:** 

\$4,506.94

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,414	3,661	7	5,082	\$10,164.00	\$232.14	\$9,931.86	0.70	\$6,952.30
							Entity '	Total:	\$6,952.30
							Adjust	ment:	\$0.00
							Total A	mount:	\$6,952.30
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	833	1,418	2	2,253	\$4,506.00	\$90.17	\$4,415.83	0.70	\$3,091.08
							Entity <sup>1</sup>	Total:	\$3,091.08
							Adjust	ment:	\$0.00
							Total A	amount:	\$3,091.08
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,122	4,501	113	5,736	\$11,472.00	\$231.71	\$11,240.29	0.70	\$7,868.20
							Entity '	Total:	\$7,868.20
							Adjust	ment:	\$0.00
							Total A	amount:	\$7,868.20
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	514	2,805	412	3,731	\$7,462.00	\$153.25	\$7,308.75	0.70	\$5,116.13
							Entity <sup>1</sup>	Total:	\$5,116.13
							Adjust	ment:	\$0.00
							Total A	mount:	\$5,116.13
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	608	3,336	109	4,053	\$8,106.00	\$172.84	\$7,933.16	0.70	\$5,553.21
							Entity '	Total:	\$5,553.21
							Adjust		\$0.00
Handler o							Total A	mount:	\$5,553.21
Harding									

\$2,001.31 \$2,001.31 \$0.00 \$2,001.31
\$2,001.31 \$0.00
\$0.00
\$2,001.31
Entity Amount
\$5,420.65
\$5,420.65
\$0.00
\$5,420.65
Entity Amount
\$10,694.34
\$10,694.34
\$0.00
\$10,694.34
Entity Amount
\$2,157.86
\$2,157.86
\$0.00
\$2,157.86
Entity Amount
\$2,045.50
\$2,045.50
_
\$0.00
ont)

Δ	ra	•	м

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	635	1,443	17	2,095	\$4,190.00	\$83.95	\$4,106.05	0.70	\$2,874.24
							Entity <sup>-</sup>	Total:	\$2,874.24
							Adjust	ment:	\$0.00
							Total A	amount:	\$2,874.24
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	409	732	4	1,145	\$2,290.00	\$45.76	\$2,244.24	0.70	\$1,570.97
							Entity <sup>-</sup>	Total:	\$1,570.97
							Adjust	ment:	\$0.00
							Total A	mount:	\$1,570.97
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	791	4,151	286	5,228	\$10,456.00	\$224.12	\$10,231.88	0.70	\$7,162.32
							Entity <sup>-</sup>	Total:	\$7,162.32
							Adjust	ment:	\$0.00
							Total A	mount:	\$7,162.32
Lake									
Reporting Period	Telecom Lines	Wireless Lines	<b>VOIP Lines</b>	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,469	9,858	1,964	13,291	\$26,582.00	\$563.52	\$26,018.48	0.70	\$18,212.94
							Entity <sup>-</sup>	Total:	\$18,212.94
							Adjust	ment:	\$0.00
							Total A	mount:	\$18,212.94
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	4,096	20,439	1,772	26,307	\$52,614.00	\$1,106.03	\$51,507.97	0.70	\$36,055.58
							Entity <sup>-</sup>	Total:	\$36,055.58
							Adjust	ment:	\$0.00

Lincoln							Total A	anount.	<b>\$30,033.36</b>
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
10/2024	1,647	28,887	3,396	33,930	\$67,860.00	\$1,476.96	\$66,383.04	0.70	\$46,468.13
							Entity <sup>1</sup>	Total:	\$46,469.53
							Adjust	ment:	\$0.00
							Total A	mount:	\$46,469.53
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	972	1,930	749	3,651	\$7,302.00	\$146.66	\$7,155.34	0.70	\$5,008.74
							Entity <sup>*</sup>	Total:	\$5,008.74
							Adjust	ment:	\$0.00
Manakali							Total A	mount:	\$5,008.74
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,156	3,324	168	4,648	\$9,296.00	\$199.35	\$9,096.65	0.70	\$6,367.66
							Entity <sup>*</sup>	Total:	\$6,367.66
							Adjust		\$0.00
Magazia							Total A	mount:	\$6,367.66
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,383	4,749	9	6,141	\$12,282.00	\$250.83	\$12,031.17	0.70	\$8,421.82
							Entity <sup>1</sup>	Total:	\$8,421.82
							Adjust	ment:	\$0.00
MaDhara							Total A	mount:	\$8,421.82
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	736	1,636	9	2,381	\$4,762.00	\$108.68	\$4,653.32	0.70	\$3,257.32

**Total Amount:** 

\$36,055.58

Meade							Entity Total: Adjustment: Total Amount:		\$3,257.32 \$0.00 \$3,257.32
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,641	21,371	1,300	24,312	\$48,624.00	\$1,022.85	\$47,601.15	0.70	\$33,320.81
							Entity Total: Adjustment: Total Amount:		\$33,320.81 \$0.00 \$33,320.81
Mellette									<b>, ,</b>
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	473	734	28	1,235	\$2,470.00	\$49.77	\$2,420.23	0.70	\$1,694.16
							Entity <sup>1</sup>	Total:	\$1,694.16
							Adjustment:		\$0.00
							Total Amount:		\$1,694.16
Miner									
Reporting Period	Telecom Lines	Wireless Lines	<b>VOIP Lines</b>	Total Lines	Surcharge	Admin Fee	Net Surcharge	<b>Entity Percent</b>	Entity Amount
10/2024	768	1,811	21	2,600	\$5,200.00	\$105.15	\$5,094.85	0.70	\$3,566.40
							Entity <sup>.</sup>	Total:	\$3,566.40
							Adjust	ment:	\$0.00
							Total Amount:		\$3,566.40
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	17,498	168,164	18,367	204,029	\$408,058.00	\$8,649.89	\$399,408.11	0.70	\$279,585.68
							Entity Total:		\$279,585.68

Moody

**Reporting Period** 

**Telecom Lines** 

Wireless Lines

**VOIP Lines** 

**Total Lines** 

Surcharge

**Admin Fee** 

Adjustment:

**Total Amount:** 

**Entity Percent** 

Net Surcharge

\$0.00

\$279,585.68

**Entity Amount** 

10/2024	771	5,275	118	6,164	\$12,328.00	\$250.19	\$12,077.81	0.70	\$8,454.47
							Entity Total:		\$8,454.47
							Adjust	ment:	\$0.00
							Total Amount:		\$8,454.47
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
10/2024	11,819	93,945	9,612	115,376	\$230,752.00	\$4,843.42	\$225,908.58	0.70	\$158,136.01
							Entity '	Total:	\$158,137.41
							Adjust	ment:	\$0.00
							Total A	amount:	\$158,137.41
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,437	2,420	5	3,862	\$7,724.00	\$164.24	\$7,559.76	0.70	\$5,291.83
							Entity <sup>1</sup>	Total:	\$5,291.83
							Adjustment:		\$0.00
							Total Amount:		\$5,291.83
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	835	1,988	7	2,830	\$5,660.00	\$113.67	\$5,546.33	0.70	\$3,882.43
							Entity <sup>1</sup>	Total:	\$3,882.43
							Adjust	ment:	\$0.00
							Total Amount:		\$3,882.43
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	2,602	5,750	31	8,383	\$16,766.00	\$359.83	\$16,406.17	0.70	\$11,484.32
							Entity Total:		\$11,484.32
							Adjustment:		\$0.00
							Total A	mount:	\$11,484.32
Sanborn									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	599	1,935	13	2,547	\$5,094.00	\$103.82	\$4,990.18	0.70	\$3,493.13
							Entity <sup>1</sup>	Γotal:	\$3,493.13
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,493.13
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,120	4,915	459	6,494	\$12,988.00	\$271.51	\$12,716.49	0.70	\$8,901.54
							Entity <sup>-</sup>	Γotal:	\$8,901.54
							Adjust	ment:	\$0.00
							Total A	mount:	\$8,901.54
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	295	2,473	358	3,126	\$6,252.00	\$129.89	\$6,122.11	0.70	\$4,285.48
							Entity <sup>-</sup>	Γotal:	\$4,285.48
							Adjust	ment:	\$0.00
							Total Amount:		\$4,285.48
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	510	1,343	4	1,857	\$3,714.00	\$76.16	\$3,637.84	0.70	\$2,546.49
							Entity <sup>-</sup>	Γotal:	\$2,546.49
							Adjust	ment:	\$0.00
							Total A	mount:	\$2,546.49
Γodd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	0	60	0	60	\$120.00	\$12.67	\$107.33	0.70	\$75.13
							Entity <sup>-</sup>	Γotal:	\$75.13
							Adjust	ment:	\$0.00

Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,829	4,185	10	6,024	\$12,048.00	\$245.48	\$11,802.52	0.70	\$8,261.76
							Entity 1	Γotal:	\$8,261.76
							Adjusti	ment:	\$0.00
							Total A	mount:	\$8,261.76
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,317	7,105	84	8,506	\$17,012.00	\$342.85	\$16,669.15	0.70	\$11,668.41
							Entity 1	Γotal:	\$11,668.41
							Adjusti	ment:	\$0.00
							Total A	mount:	\$11,668.41
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,723	12,258	603	14,584	\$29,168.00	\$717.70	\$28,450.30	0.70	\$19,915.21
							Entity 7	Γotal:	\$19,915.21
							Adjusti	ment:	\$0.00
							Total Amount:		\$19,915.21
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	1,133	3,961	541	5,635	\$11,270.00	\$228.48	\$11,041.52	0.70	\$7,729.06
							Entity 1	Γotal:	\$7,729.06
							Adjusti	ment:	\$0.00
							Total Amount:		\$7,729.06
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2024	2,136	19,318	1,820	23,274	\$46,548.00	\$980.23	\$45,567.77	0.70	\$31,897.44
							Entity 1	Γotal:	\$31,897.44
							Adjusti	ment:	\$0.00

Total Amount: \$31,897.44

TOTALS 116,413 694,589 63,961 874,963 \$1,749,926.00 \$36,820.19 \$1,713,105.81